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Question Number : 1 Question Id : 630680148126 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

What is the name of the app launched by the Chief Minister of Andhra Pradesh in June 2022 to

curb corruption in government offices across the state?

TPR9aTSR0M HE0eSS SPoPsOsrg® ERONIEN 2050 2022 2 e0iRHAT S50 oo AR
2BAeE3?

Options :

1. % ACB 14000

ACB 14000

2. * NCB 14400

NCB 14400

3. ¥ ACB 14400

ACB 14400

4. % NCB 14000

NCB 14000

Question Number : 2 Question Id : 630680148127 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1

As per the Andhra Pradesh Private Universities (Establishment and Regulation) (Amendment) Act,
2022, what percentage of seats of government quota has been decided by the Andhra Pradesh

Government in the greenfield universities of the state for medical and dental courses?

S0gHAT PIBE IHIgEre (Ko &HBK Aokogn) (¥S6E) Sio, 2022 $560, BogBdT Seheso
NGES $H0A GotdS Ee 50 T905° NS I ITared® Habess %er S8 dodTdo D¢
~Ngonoudol?

Options :

1. * 35%

35%

2. % 40%

40%

3. ¥ 50%

50%

4. % 55%

55%

Question Number : 3 Question Id : 630680148128 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

In June 2022, which health scheme of Andhra Pradesh was converted into direct money transfer to

patients?

20 20228°, @ogRHAT orR908° & @8y HE%o BtheD HE5E SiE AT S ydod?

Options :

1. * Vaidya Pariksha



D55 965

2. ¢ Aarogya Sri Health Assistance Scheme

es8%is © e8tig NP HEBo

3. ¥ Yeshasvini Health Insurance Scheme

DTN @987y DS HEEo

4, % e-Aushadhi

B-BAE

Question Number : 4 Question Id : 630680148129 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following programmes targets women from the Telaga, Kapu, Ontari and Balija

communities of Andhra Pradesh for providing them with Rs15,000 every year as a gift?

0FHATS R S, $°8), 20000 HBAMN V2 Hre HarFH $B Voo s 6r.15,000 eolocscsd
5o (o s°U5ER0 ake3?

Options :

1. # YSR Kanti Velugu Scheme

RIesd oed Fenih HEo

2. ¥ YSR Adarsham Scheme

PIREsE e3S0 o

3. ¥ YSR Kapu Nestam Scheme

SIS 57 Ao Do

4. ¥ YSR Pelli Kanuka Scheme



BB DY 5°0E HEFo

Question Number : 5 Question Id : 630680148130 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Delegates from Andhra Pradesh went to which city to attend the first session of the Indian

National Congress?

PSS A 5030 J0e5e3 DSPITAS 55238 CD0eNE e0FHRT B O SHTPS Jgeth?

Options :

1. % Bombay

EAY(OT AR O

2. # Calcutta

ol

3. # Delhi

&9

™

4. % Madras

INV N

~/

Question Number : 6 Question Id : 630680148131 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

A Patriot Poligar, Narasimha Reddy from district Kurnool rebelled and attacked the treasury at

which city?

S5m0 B BodS BFYS (e FPSTES SER05FIG, & SHES® BKHren I PR T BFEH?

Options :



1. ¢ Koilakuntla

§Poneod

2. % Kurnool

Eoryen

3. # Vizagapatam

F°PNEN0

4. ¥ Chittoor

QST

Question Number : 7 Question Id : 630680148132 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Under which Article of the Indian Constitution is Andhra Pradesh Public Service Commission

constituted?

P TergotioS R & REGE0 ots BoFHAT HPE KOIR ENAS HTRYWD BohaGold?

Options :

1. ¢ Article 315

8890 315

2. % Article 316

8890 316

3. ¥ Article 328

@880 328

4. % Article 324



Q8890 324

Question Number : 8 Question Id : 630680148133 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Which of the following comes under the Rural Local Body of Andhra Pradesh?

800 ES® OO BoFHAT TPbes FRE Do HOHSE Hipod?

Options :

1. ®* Municipal Corporations

SNSRIV

2. % Zila Parishad

2gr H0ND

3. ¥ Municipalities

WSS ON

4. % Nagar Panchayats

S5 HowraHe&en

Question Number : 9 Question Id : 630680148134 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which state makes the boundary with Andhra Pradesh towards North East?

800 TBS® e0FHATE SsvrargS NPT ) T%a90 AA?

Options :

1. # Telangana



301D

2. % QOdisha

&

3. ¥ Karnataka

S’g’eﬁ

4. ¥ Tamil Nadu

B FT°CED

Question Number : 10 Question Id : 630680148135 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which product was in the largest export category of Andhra Pradesh in Fiscal Year 2022?

800 83e5°, 2022 9% R035)80S” e30i5A3F TBoE);, @B HE Dgrtiod” QDS Ge5)E doed?

Options :

1. ¢ Marine products

R30E e yehen

2. # Gems and jewellery

Seyen B0 esaderen

3. # Dairy products

G CoeFyEhHen

4. # Leather products

S0 G BHen



Question Number : 11 Question Id : 630680148136 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Tirupati Sirvani Yalla is famous for playing which musical instrument?

DS Fared Ahge & Hohes Tandigo TPooiEod® HAQMomED?

Options :

1. ¥ Veena

)

2. % Sijtar

derd

3. ¥ Mandolin

NV SIS

4. # Mridangam

oﬁ)@éﬁo(‘io

Question Number : 12 Question Id : 630680148137 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who among the following is the eminent personality of vocal music from Andhra Pradesh?

§08 loN @odﬁéé?f g [Pobers é&@mo&é 938 DR?

Options :

1. % Mangalampalli Balmurlikrishna

So0tiFoQ wrosNEdEH



2. # Yamini Krishnamurthy

IR EHRrD

-0

3. ¥ Sheema Kermani

AT oo

4. # Birju Maharaj

D SHIFoE

Question Number : 13 Question Id : 630680148138 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which festival marks the transition of the sun into makar rasi and is an important harvest festival

of Andhra Pradesh?

Rrthgesd s88 PS8 HX3TSER)) SRy, BoFHRFT N S0 SR Hocéds doe3?

Options :

1. % Sankranti

KHo5°0&
&/

2. # Bhogi

0

3. ¥ Kartika Pournami

5288 &gk

4. % Varalaksmi Vratam

Noo§) SSo



Question Number : 14 Question Id : 630680148139 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following is the folk dance of Andhra Pradesh in which big toy-like figures are used?

230iHAE R §od & 2SN YW5eS® DG i Hotd T GHATAFE?
Options :

1. % Dollu Kunitha

(N EHede¥

2. % Butta Bommalu

208 ﬁciﬁaé@

3. * Yakshagana

N

4. # Bharatanatyam

FoSrdg0

Question Number : 15 Question Id : 630680148140 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

What was the name of India’s first central bank digital currency launched by RBI in 2022?

2022¢° RBI &80 grEeleey Ruganed Rogd wrges dued E3R) DK de3?

Options :

1. #® e-paisa

e-paisa

2. # e-kuber



e-kuber

3. ¥ e-rupee

e-rupee

4. * e-taka

e-taka

Question Number : 16 Question Id : 630680148141 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The anti-radiation pills distributed in the EU amid the fears of nuclear emergency emerging out of

Russia-Ukraine war are the tablets of

Bars-GToS 0hogo ok et )DRPN) ©e K020B BENBY Holre Sy EUS® $053e8 3052085 asods-
SACHAS Sreen 5 Honolods drges.

Options :

1. % potassium iodide

reradho @dirgé

2. % sodium iodide

REGO%0 AircE&

3. ¥ sodium hydride

80 3_3_‘@35

4. * potassium hydride

Peea0No %3_‘@3(5



Question Number : 17 Question Id : 630680148142 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Where was India’s first real-time gold ATM inaugurated in December 2022?

&20206 20228° 585335 S0GI0ES 8aHS Gon 56§ NEOHo Y FrBoRlosntold?

Options :

1. % Indore

YY)

2. ¥ Hyderabad

SeSTerd

3. * Bengaluru

Botigee

4. * New Delhi

Sreg

Question Number : 18 Question Id : 630680148143 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who is the winner of National Award for Outstanding Efforts in Science and Technology

Communication in general 2021 given by the Department of Science and Technology, GOI?

808 >SS’ PP DALY TR o3®E Jgrifo BN, S PR) Wobk GO EkirydSie 20216°
@SS NS @A BT IBBT A ADwrEd?
Options :

1. % P N Panicker Foundation



D AR DAEE FoGRAR

2. % Ashoka Tree Trust foundation

@ & 9 FoBAN

3. # National Association for voluntary Initiative

SRS OPDTNAR HE 50088 BANHED

4. # India Ayush Centre

B06aS® 30N Voedd

Question Number : 19 Question Id : 630680148144 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

What is the mantra for G20 summit scheduled to be held in India in 2023?

20236° g8 ¥oS® 2381808y G20 Forl KT8 Ko230d0wd AP0 aded?

Options :

1. ® Sustainable and cumulative growth

KR0S B 0 BB (IS w0l Lrgsnd8S )

2. ¥ One Earth, One Family, One Future

28 BN, 208 KEN020, 28 FDRGED (3R A&, IR 5N, IS I°536)

3. ¥ Peace and Health for all

©0¢508 70 00050 @850 (R ®ok 3G HE e)

-0

4. # World progress by peace

08 Toe oS YT (I8S °GR

G

v



Question Number : 20 Question Id : 630680148145 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who is the head of the panel set up to recommend structural and other reforms required in the
rural job guarantee scheme under the Mahatma Gandhi National Rural Employment Guarantee

Act (MNREGA) in December 2022?

GR028h 20226° s ol 278D Trodes e P S¢o (MNREGA) 80ls, rades Gadf 55 $¢550s®
SIES QTYETE)E 00D DG Do BIR8 DR FAHTPIS T2YED BN r5IS gD h?

Options :

1. # Vivek Katju

RIRICAV

2. ¥ Amarjeet Sinha

@&3@6 D

3. ¥ Harsha Nayyar

oo SaHg6

4. ¥ Mona Singh

S doh

Question Number : 21 Question Id : 630680148146 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following elements in stainless steel acts as a protective surface to prevent air and

moisture from causing rust?

00RER S’ §0b sresed®, Ky H¢Eem O SO0 B AT°PosEdS S eHdBworr &
S52°©¥0 HABHoR?



Options :

1. ¥ Nickel

NES]

2. % Chromium

56&3%0

3. ¥ Carbon

S°€5235

4. ¥ Aluminium

©OTFDNIOD0

Question Number : 22 Question Id : 630680148147 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following are the building blocks of protons and neutrons, which in turn are the

building blocks of atomic nuclei?

808 8S°, HSTen Solsee DYoh gr&en (ATYETE GFmPeR)T Gotir, FPErOeD HOAK STHree Jo7ETe)s

TP o ?

Options :

1. ¥ Photons and gluons

e SO (rai

2. ¥ Gluons and quarks

traroen $$0050 5236 en

3. ¥ Quarks and mesons



5236, S0AH DY

4. % Meson and photons

0308y $H00H LPereH

Question Number : 23 Question Id : 630680148148 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

As per the RBI's Monetary Policy Committee Meeting December 2022, what GDP growth

forecast for the current financial year (FY23) is seen?

G026 2022 RBI g5 Qg E0e Hasrado 5760, HipeS e398 Koo (FY23) GDP K58 @oar dded?

@
Options :

1. % 4.6%

4.6%

2. ¥ 6.8%

6.8%

3. % 8.1%

8.1%

4. * 9.4%

9.4%

Question Number : 24 Question Id : 630680148149 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Air India was nationalised in which of the following years?



[STIARN éo&’)@i{séo@ﬁ DONE BSOS 2e0Ho BAHG0H?

Options :

1. %1947

1947

2. ¥ 1953

1953

3. % 1960

1960

4. ¥ 1967

1967

Question Number : 25 Question Id : 630680148150 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who among the following gave the theory/model of Agricultural land use?

800 &0S° NDFRRO0 2 DT Ho f’og"o@o/éaﬁwv‘éa AN WoBoeth?
Options:

1. ¥ Von Thunen

TR ENDIR

2. # August Losch

01 erR)
@

3. # Alfred Weber

ese')’q)jci ISYAYS)

4. # Alfred Wegner



sgye 3)0

Question Number : 26 Question Id : 630680148151 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

The “demographic transition theory” was published separately by and to become

the guiding “theory” of demographic change.

"2 205G dgroo” OB BT ST G0, SPPeSEHE "Ngroo" e SRS INVeJoN) )
G HeBociarteod.

Options :

1. ®# Landry Well and Frank W Notestein

erog S $0a grof W Sy ood

2. ¥ Frank W Notestein and Kingsley Davis

Q"o§ W 3@3{36)0335 30005 §oﬁ(:)m QIR

3. # Kingsley Davis and Emile Durkheim

%oﬁrbm BIR BTN NG 80

4. ® Emile Durkheim and Herbert Spencer

ADG 5800 3528050 Y6 N6

Question Number : 27 Question Id : 630680148152 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

In which of the following years was the first Delhi Durbar held by Britishers to mark the

Coronation of Queen Victoria?



830 05’005 DRSS é@§r¥° DBR T J0065e3 GO ST §08 & KoXeYBoS® Asaromeh?

Options :

1. # 1857

1857

2. ¥ 1877

1877

3. # 1897

1897
4. ®# 1917

1917

Question Number : 28 Question Id : 630680148153 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

How has India/Bharat been described in the Constitution of India?

PO TergotioS® BoGaT/ardes der JiSBotsadol?

Options:

1. ¥ Federation of States

P9 ECAN

2. % Union of States

eI OHTRACHR

3. ¥ United States of India

OIEE B 8D vkl

4. ¥ Indian Federation



BOGADND PLTAR

Question Number : 29 Question Id : 630680148154 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Sangeet Natak Akademi, the Indian apex body for performing arts, is headquartered in which of

the following cities?

DB E¥03 PEBODH eethy e o5 oSE Kofie8 &8 @sead HEs STrgeho §o8 & SiieS® JeE

&ol?

Options :

1. % Kolkata

S5

2. * Lucknow

o8

3. #* Chandigarh

$506056

4. ¥ New Delhi

e

Question Number : 30 Question Id : 630680148155 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

In reference to the Dravidian Style of Indian Temple Architecture, Gopuram refers to:

PEBDH WO0H rPLYSR TG FO H5°50, [FedBo BRI Krdipod:



Options :

1. ¥ sanctum sanctorum

ﬁé@(ﬁ&

2. ¥ entrance gateway

éi)'z‘f 3o

3. # pillars

NOZTeN
-

4. % floors

oS HED

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 31 Question Id : 63068054839 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate meaning of the given proverb.

Better late than never.

Options :

1. # Doing something late is always better.

2. ¢ Doing something late is better than not doing it at all.
3. # Doing something late should be avoided.

4. ® Doing something late is never appreciated.



Question Number : 32 Question Id : 630680148176 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate meaning of the given idiom.

string bean

Options :

1. ¥ arude and grumpy person
2. * Avery healthy person

3. ¥ Avery skinny person

4. # Alazy and dull person

Question Number : 33 Question Id : 63068064377 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate meaning of the given proverb.

The apple doesn't fall far from the tree.

Options :

1. * Apples usually fall only around the tree that they grow on.
2. % One must not stray too far from one’s family or community.
3. ¥ People prefer to follow in the footsteps of their forefathers.

4. ¢ Children often take after their parents in looks and actions.

Question Number : 34 Question Id : 63068084461 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Fill in the blank with the word that is OPPOSITE in meaning to the word given in the bracket.

It was not until the protests that the officer realised the (safety) of a disgruntled public.
Options :

1. % security



2. % cons
3. ¥ problems

4. + perils

Question Number : 35 Question Id : 630680132573 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate ANTONYM of the word in the brackets, to fill in the blank.

The college dorms are ____ as new admissions are currently in process. [occupied]
Options:

1. * finished

2. ¥ vacant

3. * big

4. % unavailable

Question Number : 36 Question Id : 630680148188 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate synonym of the word given in brackets to fill in the blank.

I[felt__ (exhausted) after climbing the hill for two hours.
Options :

1. # stale

2. ¥ drained

3. ¥ miserable

4. ¥ gloomy

Question Number : 37 Question Id : 630680148193 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1

Select the most appropriate synonym of the word given in brackets to fill in the blank.

She thoroughly washed the wooden mortar in whichshe__ (pounded) the yam.
Options :

1. ¥ hammered

2. ¥ produced

3. ¥ served

4. % garnished

Question Number : 38 Question Id : 630680148198 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the grammatically correct sentence.

Options :

1. ®# The recovering patients in hospitals are a setback for unhygienic conditions.
2. # Hospitals are a setback for the unhygienic conditions in recovering patients.
3. ¢ The unhygienic conditions in hospitals are a setback for recovering patients.

4. # The recovering unhygienic conditions in hospitals are a setback for patients.

Question Number : 39 Question Id : 630680148200 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

Select the grammatically correct sentence.

Options :

1. # As a little girl, she had been patching bedquilts in exquisite patterns even in the way of clever
with her needle.

2. ¢ Even as a little girl, she had been clever with her needle in the way of patching bedquilts in

exquisite patterns.

3. # She had been patching needle in the way of clever bedquilts in exquisite patterns even with

her as a little girl.



4. # Bedquilts in exquisite patterns she had been patching her even as a little girl in the way of

clever with needle .

Question Number : 40 Question Id : 630680148208 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to

form a meaningful sentence.

A. state of well-being characterised by
B. were far happier than we are
C. if we consider happiness as a

D. contentment and joy, our forefathers
Options :

1. * DCAB

2. ¥ CADB

3. % ADBC

4. = CDBA

Question Number : 41 Question Id : 630680148212 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to

form a meaningful sentence.

A. industrialised world, people are
B. in a growing technology-run and
C. and moving towards new innovations

D. increasingly forgetting the traditional crafts
Options :
1. % DCBA

2. ¥ BADC



3. % ABCD

4. % CBAD

Question Number : 42 Question Id : 630680148224 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate option to fill in the blanks.

The system of teaching in large classes is . No allowance is made for the peculiar mental
constitution of the child, who is sacrificed to the average of the classes.
Options :

1. # personal, solitary
2. * harsh, original
3. #* relaxed, separate

4. +# rigid, individual

Question Number : 43 Question Id : 630680148227 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate option to fill in the blanks.

Children who are even when they are clumsy or slow, will grow up with confidence in
themselves, happy. They will have a spirit that will make the best of that they have and of

the opportunities that come their way.
Options :

1. % appreciated, abilities

2. * scorned, capacities

3. # lauded, experience

4. # perated, knowledge

Question Number : 44 Question Id : 630680148229 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate option to fill in the blanks.

The evil effects of adulteration of food on our health are slow in their and hence do not
commonly draw our attention. They are often but have far-reaching effects.
Options :

1. # beginning, noticeable
2. * advent, scrutinised
3. ¥ onset, imperceptible

4. *# setting, discovered

Question Number : 45 Question Id : 630680148235 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate option to fill in the blanks.

Liberty is not a personal affair but a social contract. It is an of interest. Only in certain

matters can we enjoy absolute and ______liberty.
Options :

1. * amalgamation, flexible

2. ¥ accommodation, inviolable

3. ¥ affluence, eternal

4. * influence, autonomous

Question Number : 46 Question Id : 630680148236 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Select the most appropriate option to fill in the blanks.

Businessmen can make capitalism a force by ensuring their workers a minimum decent



wage, permanent employmentand ___ of service.
Options:

1. * regressive, sufficiency

2. ¥ progressive, security

3. * developmental, quality

4. # successful, safety

Question Number : 47 Question Id : 63068054131 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order to
form a meaningful sentence.

Many people / a push in life / need / they actually / before / start living.
Options :

1. # Many people they actually need a push in life before start living.
2. ¥ Many people before they actually need a push in life start living.
3. % Many people need a push in life before they actually start living.

4. ¥ Many people need before they actually a push in life start living.

Question Number : 48 Question Id : 630680148217 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the correct

order to form a meaningful and coherent paragraph.

A. She knew that the siege would take some months as the castle was located on a hill.

B. But the condition of the Duchess's soldiers was worse, they became unruly as there seemed to
be no end to the siege.

C. In 1334, the Duchess of Tyrol laid siege to a castle in Austria.

D. As time passed, the defenders in the castle were growing desperate, their grains depleting fast.

Options :



1. = DCBA
2. % CBDA
3. * DBAC

4.+ CADB

Question Number : 49 Question Id : 630680134157 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the option that can be used as a one-word substitute for the given group of words.

A person who always assists the needy and weak
Options :

1. # Kleptomaniac

2. ¥ Samaritan

3. ¥ Debonair

4. * Gourmand

Question Number : 50 Question Id : 630680148219 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the option that can be used as a one-word substitute for the given group of words.

One who is not easily pleased
Options :

1. #* Credulous

2. ¥ Fastidious

3. ¥ Ambiguous

4. * Nefarious

Question Number : 51 Question Id : 630680129875 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The following sentence has been split into four segments. Identify the segment that contains a
grammatical error.

Ritu goes / to the supermarket yesterday / to buy groceries / for her family.
Options :

1. ¥ Ritu goes

2. * to the supermarket yesterday

3. ¥ to buy groceries

4. #® for her family

Question Number : 52 Question Id : 630680148222 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

The following sentence has been divided into parts. One of them may contain an error. Select the
part that contains the error from the given options. If you don’t find any error, mark ‘No error’ as

your answer.

All the matches / are been telecast / live on sports channel.
Options :

1. #* All the matches

2. ¥ are been telecast

3. # live on sports channel

4, * No error

Question Number : 53 Question Id : 63068048036 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

In the given sentence, four words/phrases have been underlined and the underlined

words/phrases are given as options. Select the option that contains an error.



Such was her destiny as no one could do anything to help her.
Options:

1. * her

2.¥ as

3. * could

4, # help

Question Number : 54 Question Id : 63068068237 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select the most appropriate option to fill in the blank.

The corrupt ministers were all jailed.
Options :

1. # though

2. ¥ but

3. * and

4. % to

Question Number : 55 Question Id : 630680120403 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Select an appropriate word from the options given below to make a meaningful sentence.

A/an _____ person shows great devotion, dedication and commitment to his work.
Options :

1. ¥ meticulous

2. # indolent

3. # insolent

4. * dubious

Is Section Default? : null



Question Id : 63068084561 Sub Question Shuffling Allowed : No Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (56 to 60)

Read the given passage and answer the questions that follow.

Moulds often grow in size and are blown about by the wind. It was by chance that such a mould
had dropped on the culture prepared by Fleming and partly destroyed it. But it had not been
known that any of these moulds could destroy bacteria. It was Fleming's alertness, curiosity and
keen observation that led him to this great discovery. These are the qualities indispensable for
scientists and researchers. Fleming's discovery was the result of his scientific curiosity and his
discipline as a researcher.Fleming spent weeks and months over his experiments with the mould.
He examined everything under the microscope - food, clothes and leather on which moulds had
been formed. He sent a woman called Mary to the market now and then to buy anything old and
mouldy. This woman used to be seen in the market so often that people called her Mouldy
Mary.Fleming found out that even when the penicillin mould was diluted 800 times, it was effective
as a germ-killer. But he had one difficulty which he could not overcome. He found that the
penicillin mould by itself did not kill the germs. It was actually a drug that the mould produced that
killed them. This drug had now to be extracted from the mould. In 1929, Fleming published his
findings in the hope that someone else would follow his lead and finally separate the drug from
mould.Two researchers at Oxford University, Dr. Howard Florey and Dr. E.B.Chain, continued
Fleming's work. They saw that the Penicillin mould grew best in a sugar solution. They carried out
several experiments with the mould in solution. One day, by chance, they hit upon the right
combination of solution and temperature for their mould. They saw in it some tiny golden drops.
These were really tiny drops of the drug. They collected these drops, which when dried turned into
a white powder.The next thing to do was test the drug. A number of mice were inoculated with
certain powerful disease germs. Some of these mice were given penicillin injections every three
hours and the rest were left untreated. The next morning, all the untreated mice were found dead,
but those that had been given the penicillin injections were found completely cured.To try the
drug on human beings was the next step for the researchers. A friend of theirs had been suffering
from a serious disease for several years. Many drugs had been tried, but had produced no effect.
Fleming and his fellow scientists had gained such confidence in the effectiveness of the new drug
that they wanted to try it on this patient. He was given one or two injections of Penicillin and he

gradually began to recover. This was most encouraging indeed. With a few more injections ,the



man recovered completely.

Sub questions

Question Number : 56 Question Id : 63068084562 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Find the most suitable ANTONYM of the word ‘suddenly’ from the passage.
Options :

1. Gradually

2. % Finally

3. * Really

4, # Completely

Question Number : 57 Question Id : 63068084563 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

What is the central theme of the passage?

Options :

1. # The effects of drugs

2. ¥ The discovery of Penicillin

3. # Disease-causing germs

4. % Qualities of scientists

Question Number : 58 Question Id : 63068084564 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Fleming's alertness led him to discover:

Options:

1. # Mouldy Mary

2. * the effects of Penicillin

3. % that moulds could destroy bacteria



4. * that moulds can cause disease

Question Number : 59 Question Id : 63068084565 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Choose the most appropriate meaning of the given word.

Inoculate
Options :

1. ¥ Vaccinate
2. # Shirk

3. # Nibble

4. % Gulp

Question Number : 60 Question Id : 63068084566 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Which of the following statements is NOT true according to the passage?
Options :

1. ¥ Fleming found that the Penicillin mould by itself could kill germs.

2. % Dr. Florey and Dr. Chain continued working on Fleming’s research.

3. #* Untreated mice died in the experiment.

4. # Fleming and his fellow scientists decided to try the drug on their friend.

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Is Section Default? : null

Question Number : 61 Question Id : 630680148156 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1

Which of the following belongs to the fifth generation of computers?

808 BS® 2638 BYo Kosgrgbesd oI B?

Options :

1. ¢ Artificial intelligence

30AAHS BoRIRNY

2. ¥ Stored program

§°C B

3. ¥ Assembly language

@©R00g) eroisd

4. % Machine language

AR eroisd

Question Number : 62 Question Id : 630680148157 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following devices is believed to be the first computer invented by the Chinese around

4000 years ago?

808 Gz’ 4000 HoXeBTre o FNAHLD EAIEEN IFZRDHY R0aee3 Sosrged HB?

Options:

1. % Abacus

O2PER

2. ¥ Napier's bones



QDY R

3. # Pascaline

FON

4. % |Leibniz wheel

ONE IS

Question Number : 63 Question Id : 630680148158 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Who among the following developed one of the early computing devices called the ‘Difference

engine’?

808 0L’ 'GDHBRY BorS' I Fr¥oss FosIrsdoh HOLTOS® WETR) AN WDHB BTH?
Options:

1. % Charles Babbage

OISR AL

2. * John Napier

PR ROHE

3. #* Blaise Pascal

58 S

4. * Gottfried Wilhelm Leibniz

8396 IIE, O

Question Number : 64 Question Id : 630680148159 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1

Windows Operating System is developed by

QoER es3e30h iHasn) ©DYRVEISTE

Options :

1. % Apple

39S

2. ¥ Microsoft

25

8gm

3. % Windows

DolER

4. % Google

tethS

Question Number : 65 Question Id : 630680148160 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following is the very first screen/component that you see once Windows is loaded?

808 BS®, Jo&GR S°G oS BT DB F08S EANOW NGYINEE BYIN/570*SolS NQ?

Options:

1. % Control Panel

S’o@s S @"5(35

2. ¥ Desktop

GRS



3. # Calendar

5o580cé6

4. #® Calculator

SN )

Question Number : 66 Question Id : 630680148161 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

Which of the following is a pictorial representation of objects, for aesthetic reasons as a part of the
visual identity of a program, and for utilitarian reasons as shorthand for conveying meaning that

users perceive almost instantaneously?

808 BS°, PP G, LTSS tHG0s)S” grtfore @§§s§o§o§_ar6 SEEPOE HOAH DITTHTEH )
FEeadd (forodd ) SAOHEHES G ok M GHTPHNE ST ey HE0AHS

6@80835’15(&@:‘60230(}5 FEAE50) Nade3?

Options :

1. % Icons

85°%)
™

2. # Status Bar

208 26

3. #* Menus

ENVIN LTSN

4. % URL

URL



Question Number : 67 Question Id : 630680148162 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following is also known as the Visual Display Unit (VDU)?

808 &S° A RS R 0 (VDU) @ 55w Heogrth?

Options :

1. % Keyboard

8456

2. % Monitor

INGINLNS)

3. % Mouse

SR

4, # Scanner

)56

Question Number : 68 Question Id : 630680148163 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

A is made up of several buttons called keys.
28 930 80 @) LenHwie B 2eFE° EraroRosntkod.
Options :

1. * monitor

INGINLNS)

2. ¥ keyboard



85°6

3. ¥ mouse

SR

4. % scanner

56

Question Number : 69 Question Id : 630680148164 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Sameer wants to chat with his uncle who is abroad. He wants to see his uncle as well while

chatting. Which input device will he need?

KNG AATS® o) B SSTHOHIS” T FOTOK0ENTNE. T Dy STPSIAHID SrEO e

29 00ENT)E. BB O BRRNE H05To @HTo?

Options :

1. % Scanner

)86

2. % Webcam

ISPAJTIS

3. # Keyboard

8456

4. # Mouse



Question Number : 70 Question Id : 630680148165 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following keyboard shortcuts is used to save an MS-Word document?

800 88°6 arfELeos® MS-Word w5580 e 00 OO Geddirodeaciehol?

Options :

1. % Ctrl+A

Ctrl+A

2. % Ctrl+C

Ctrl+C

3.9 Ctrl+S

Ctrl+S

4. % Ctrl+V

Ctrl+V

Question Number : 71 Question Id : 630680148166 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1

By default, in an MS-Word document, a spelling mistake is highlighted with a wavy line.
&arde, MS-Word &r55300656°, 23906 05 e 3D SIS eSS JaHeacireod.

Options :

1.+ red

A Botd

2. % green



eséaéaﬁb) ot

3. # black

Sy Soth

4. % orange

3302 SotH

Question Number : 72 Question Id : 630680148167 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following keyboard shortcuts is used to enter a new line in the same cell in an MS-

Excel 2010 worksheet?

800 88°6 arfEleos®, MS-Excel 2010 $56,a18S° 2.3 1ES® 2.8 5 S 0&8 BAHEAE HE
&Aoo 8?

Options :

1. *# Tab+Enter

Tab+Enter

2. ¥ Alt+Enter

Alt+Enter

3. ¥ Shift+Enter

Shift+Enter

4. * Ctrl+Enter

Ctrl+Enter

Question Number : 73 Question Id : 630680148168 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

In MS-Excel 2010, to print multiple worksheets, click the first worksheet, hold the key on

your keyboard, and then click any other worksheets you want to select.

MS-Excel 20106, 938 3502808 o Sabmeds, 3nese3 H6,08:5 85 3%, b §5°6 8 &8, @
0 058 o080 B S5 e §8 Sard)y wotnod.
Options :

1. * Esc

Esc

2. % Ctrl

Ctrl

3. # Tab

Tab

4. % Alt

Alt

Question Number : 74 Question Id : 630680148169 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following helps you to create slideshow presentations displaying text, images, shapes

and videos?

808 eBS*, 85 , vahdien, RY) HOIM JEEPOD §3650)0d PERLE PRBANOD ErdroBoktos® OB o
REPOHHEHR?
Options :

1. ¥ Microsoft PowerPoint



2EFE 556 ool

2. # Notepad

Seargle

3. ¥ Microsoft Paint

@_Dgsrﬁ”%) Honodd

4. ¥ Microsoft Word

Question Number : 75 Question Id : 630680148170 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following views in MS-PowerPoint 2010 is used to change the design and layout of

the master slide?

853@5 @oaa(fo GER 0050 SwsHSsH SeEyeds MS-PowerPoint 201 0¢5°Q §o8 8@5"5@&36 A}
GHARTH032¢008?

Options :

1.+ Slide Master

N0k &b

2. ¥ Handout Master

$F50&eedd $SrHd

3. ¥ Notes Master

SN b

4. % Slide Sorter



Honk g

Question Number : 76 Question Id : 630680148171 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

The presentations in MS-PowerPoint 2010 are saved with extension.

MS-PowerPoint 20106 38o&aoen D3) S D Bahacieron.

Options:

1. * .ptpx

.ptpx
2. ¥ pptx

.pptx
3. % .pttx

.pttx

4. ® tppx

Appx

Question Number : 77 Question Id : 630680148172 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following E-governance services provides a single platform for all the Indian citizens

to access pan-India services?

808 D153 HOFNOS®, FR-B0%0TP VIO AFFD JANEAS FEBADH Ftheodsds 2.8 TR A

@oBPoR?

Options :



1. # Unreserved Ticketing System (UTS)

002636 ¢33¢30h den (UTS)

2. ¥ Unified Mobile Application for New-age Governance (UMANG)

OS5 pE SNBSS @PIAS HE Srg-0 (158)%) (UMANG)

3. # Digilocker

&ersd

4. % Reservation

823050

Question Number : 78 Question Id : 630680148173 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

In which of the following sectors are information kiosks utilised to advertise the currently trending

products to draw more attention towards those products?

808 & Borrg®, Hpeo GokohiS® &) Gefiehe HY 5000e (AN e500), TR @EiBE J0HES BHRR
SAIPRYED GOAEPoLSWEIHINON?

Options :

1. ¥ Government

Saess

2. ¥ Retail

o8

3. ¥ Health

es8°tig0



4. * Education

0SS

Question Number : 79 Question Id : 630680148174 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1

In May 2008, which of the following companies was selected as a service provider for the

implementation of the Passport Seva Project under the National e-Governance Plan?

§0b BS°, o 2008S° SANS B-11550)0) R 8ol PRIG Ve FPRE sHensd B IO & SN

D0Z08?
Options :

1. # International Business Machines Corporation (IBM)

B0&3)RANS DBIR 2R S*ENCAS (IBM)

2. * Hindustan Computers Limited (HCL)

35"0&33@"5 Eosgrged) D& (HCL)

3. * Infosys (Information Technology Consulting)

fas‘;)?ofo ('aféqyfﬁéoﬁ5 Ss2eB 55)9oh)

4.  Tata Consultancy Services (TCS)

erer 318 085 (TCS)

Question Number : 80 Question Id : 630680148175 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Which of the following is an integrated mobile application developed to cater to various

requirements of passengers, including ticket booking, inquiry, onboard cleaning and ordering



meal, on a single platform?

808 BS®, 2.8 Sarand G356 w8of, 20356, @EE §Jof O Faird) @b JoHied” KF HarsHe
AN BT BYywdS @R S0hndsS BolJes J0gd ©PSAS H6?

Options :

1. # Rail Sahyogi

G ovvily)

PQU

2. ¥ Rail Saarthi

oS 8

3. # Unreserved Ticketing System (UTS) on mobile

INBSS® ©S063& B35e30h diHad (UTS).

4. # Centre for Railway Information System

20606 H6 3y 'a‘éq)éééu% SHRIS



